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Answer all the questions in the spaces provided.

1. Different types of business organisations and their stakeholders

Private sector organisations, public sector organisations and not-for-profit organisations
make up the many thousands of businesses within the UK.

Jamie Oliver is a successful entrepreneur and TV personality who has had success with TV
shows, the publication of cookbooks and his own restaurants.

Prior to 2020 Jamie Oliver owned three chains of restaurant brands; Jamie’s Italian and
Barbecoa, both private sector, and Fifteen a not-for-profit chain of restaurants. However,
in 2019, 22 out of 25 of the restaurants had to close due to falling customer numbers and
increased losses. 1000 jobs were lost throughout the UK as a result of these closures.

(@) Identify two aims of public sector organisations. [2]

(b) (i) Identify two types of not-for-profit organisations. [2]

(ii)  Outline the main features of one of the not-for-profit organisations from your
answer to (b)(i). [2]
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(c) Evaluate the impact of these restaurant closures on Jamie Oliver and the wider
economy. [6]
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2. Fred’s Fryer

Fred owns and runs a small sole trader fish and chip shop called ‘Fred’s Fryer’, operating in
a local, but very competitive market. There are several other businesses of the same size
including ‘Sandra’s Fish and Chip Shop’ which offers similar goods and services to the local
population. Fred positions his business towards the higher quality end of the market allowing
him to charge slightly higher prices than his rivals. Last year Fred’s Fryer outperformed its
competitors in the town and has the largest market share of 11%.

(@) Define the meaning of the term market. [2]

(b) Identify and describe the market structure in which Fred’s Fryer currently operates. [3]

Fred’s Fryer owns 11% of the market with sales value of £330000 per year.

() (i) Calculate the value of the total market. [3]

Examiner
only
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Examiner

Sandra’s Fish and Chip shop achieved a yearly sales value of £270000. only
(i) Calculate Sandra’s Fish and Chip shop’s market share. [3]

Due to recent success, Fred wants to open up another fish and chip shop in a nearby town.

Fred has been approached by a local business person who is offering Fred the finance

required for the expansion in return for a 50/50 business partnership in the new fish and chip

shop. Fred however, is unsure whether to accept this offer or use a bank loan.

(d) Discuss whether a bank loan is more suitable than taking on an additional partner when
raising finance for a small business. [8]

....................................................................................................................................................................................................... 19
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3. Deciding on a business opportunity

Plastic waste has been a growing concern within the UK. In 2019, it was reported that more
than 5 trillion pieces of plastic are in the world’s oceans which take many years to decompose.

Emma has just finished a fashion degree and is passionate about environmental issues.
Emma is looking to become an entrepreneur setting up a plastic-free business. She has
identified two potential business opportunities and needs help deciding which option to
choose. Emma will then create a business plan for the chosen option.

Emma has decided to run her business from home, selling online.

Option One: Eco-friendly reusable fabric shopping bags. The idea is to make
shopping bags a fashion item, reducing the need for plastic bags.

Since 2015, all retailers in England have had to charge for plastic bags. It was
reported that single-use plastic bag sales have fallen by 90% since the introduction of
this charge. However, the growth in online shopping suggests that fewer people may
be visiting physical stores, reducing the need for a shopping bag.

Table 1: Quantitative data for Option One

Selling price per personalised fabric shopping bag £10
Expected profit for the first year of trading £2000
Yearly break-even number of units 3500 units

Option Two: Reusable metal drinking bottles. The product will keep drinks at their
correct temperature (hot or cold) and the flask will also have measuring levels, so any
drink from any shop can be filled directly into the flask.

Secondary research has shown that more and more people are visiting coffee shops.
However, initial primary research also suggests that some retailers may continue to
use their own cups when preparing drinks.

Table 2: Quantitative data for Option Two

Selling price per personalised metal drink flask £15
Expected number of customers for the first year of 3600
trading

Yearly fixed cost £30000
Variable cost per unit £5
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(@) Identify one key component of a business plan. 1]

(b) Explain the purpose of a business plan. [4]

() (i) Using the data in Table 2, construct the break-even graph for Option Two,
drawing and labelling the following:

e Total revenue
¢ Fixed costs
e Total costs [4]

Break-even graph for Option Two
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(ii) Identify the break-even number of customers. 1]

(d) Using quantitative and qualitative data, discuss which option Emma should choose. [9]

END OF PAPER
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